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The figures in the margin indicate full marks.
Candidates are required lo give their answers
in their own words as far as practicable.

(Gender & Human Rights)
Group - A
Answer any fen questions : | 2x10=20

1. What is the cause of revolution as stated by the speaker
in Meena Kandasamy’s “Aggression”.

2. What does the poet mean by ‘inward struggles’ in the
poem “Aggression™? -

3. “Every May, something extraordinary happens in the new
- cemetery of the sleepy little town” — What is

“something extraordinary”?
4. Why does Lentina admire the yellow flowers of the
Laburnum tree?
P.T.O.
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(Environment and Literature)
Group - A
Answer any fen questions : 2x10=20
1. Mention &m historical context of :wwg_mo%_wom_mawz.
2. What is the meaning of the phrase ‘felled 1879°? .

3. How did “Binsey Poplar” become a successful campaign
for replantation of trees?

4. Explain the metaphor “airy cages” in Hopkins® poem.

5. What conveys the sadness and the shock of the poet
in Hopkins’ poem?

6. Who is Harisharan? gm:m he trying to do?
7. Who is Bikhia? What did he do?

8. Puran Singh learnt that there was no word for
“exploitation” or “deprivation” in the Ho language. What
was his reaction?

9. What is the importance of art in ‘adivasi’ life?

10. What is the significance of the pre-historic bird in
Mahasweta Devi’s story?

11. What happened in the year Bisnu’s father died?

12. What happened to the deodars and pines in “Dust on
the Mountain™?
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13. What happened to Bisnu afier the cinema closed? W
did his friends go?

14. What are the problems faced by the villagers in “Dust
on the Mountain™?

15. What saves Pritam? What connection does this incident
have to do with the major concem of the story?

Group - B
Answer any four questions : L 18%4=29
16. What is the impact of the felling of the poplars on
Hopkins? ,

17. How does Hopkins’ poem in your syllabus contemplate
the destruction of nature?

18. What is the significance of Saraswati in Puran Sahay’s
life? Why is this episode important in Devi’s short story?

19. How does “Pterodactyl” convey the agony of the tribal
people?

20. Comment on the ending of “Dust on the Mountain”.

21. What effect does blasting the hills have on the
environment in “Dust on the Mountain™?

PTO.
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Group -C

Answer any fwo questions: - 10x2=20

: 'Analyse the structure and form employed by Hopkins in

“Binsey Poplars™.

. Comment on the title of Mahasweta Devi’s Pterodactyl

Puran Sahay and Pirtha”. N B
How does man-nature relationship form the pillars of the
narrative of Mahasweta Devi’s short story in your
syllabus? ; :

Comment on Bond’s concemn for nature in “Dust on the
Mountain”,
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(Plant Anatomy and Embryology)
: Group - A

Answer any five of the following :  2x5=10

1. What is sunken stomata? What is its function? 1+1
2. What is nucellus? Write its function. - 1+1

3. Draw and label the structure of anther. 2

4. Write differences between meristematic tissue and

permanent tissue. - 2

5. What is epidermis and cuticle? 2
6. What do you mean by annual ring? Why are annual
rings formed? - 1+1
P.T.O.
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8. What do you mean by double fertilization? 2
Group - B

Answer any four of the following : 5%x4=20

9. What is cross pollination? Give example. Write the

function of vascular cambium. 2+1+2=5

10. What do you mean by embryo sac? Draw and label the

ultra structure of mature embryo sac. 2:3=5

11. Discuss the Histogen EmoQ of structural am<m_ow5,m2 of

shoot apical meristem with suitable diagram. 5

12. What is H.quon What is its function? Write the

difference between heart wood and sap wood. 1+1+3=5

13. Write a brief note on the different types of stomata. 5

14. Define polyembryony with example. Write the

physiological adaptations of xerophytic plants.  2+3=5

Group - C

Answer any one of the following :  10x1=10

15. Diagrammatically describe the different types of ovules

in plants. 10

16. What is endosperm? Write two functions of msao%mnd.

Discuss the mechanism of fruit and seed dispersal by

wind. 2+2+6
V-4/18 - 1600
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(Plant Physiology and Metabolism)
Answer any five questions : 2x5=10

1. Name the complexes that are associated with the electron
- transport mechanism in the light reactions of
photosynthesis. 2

2. What is the name of the only trace element which is
present in a vitamin and what is the name of the vitamin?
2

. Differentiate between active and passive transport. 2

(98]

4. What do you mean by dual activity of ‘Rubisco’? 2

5. Mention the substrate level phosphorylation step of TCA

cycle. 2
6. Under what circumstances RQ of plant tissue may

become zero and infinity? . 2
7. Write down the full forms of NAA and 2, 4-D. 2

8. Mention the role of critical day length in flowering. - 2
Group - B
Answer any four questions : 5%4=20

9. What is water potential? Do you think that water
potential gradient is the only driving force for osmosis?
Justify your answer. i 1+4=5

PT.O.
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14.

15.

16.

L))

2/
..;a%w:mﬂ different types of transpiration are encountered in

plants? Why is transpiration called a necessary evil?
, 1+4=5

Describe the process of nitrate assimilation in plants. 5 .

Distinguish between macro and micro elements, citing

examples. Describe briefly the role played by Calcium
and Molybdenum in the physiology of plants.  1+4=5

Discuss the role of cytokinin in cell division and

senescence. { 2

Discuss the role of ABA in aoimso% and drought stress.

: 5
Group - C

Answer any one question : 10x1=10

Mention the similarities and dissimilarities between CAM
and C4 plants. Describe the organic acid metabolic
pathway in CAM plants. How many ATP molecules are
required for the fixation of two molecules of CO, by C4
plants? 4+4+2=10

What are phytochrome and o,J\EooEoBmw How does
phytochrome regulate :o,ioa:m in short-day and long-
day plants? Give a brief account on the role of low
temperature on flowering. 2+4+4=10
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